== A
N = 0] &F AF S & AN A
20138 &= 20l A LBt A XX #E N ~ AR E D
2AM: XA D
MM FOIXX DB 23
9l ZoIME B AW CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
XEXI & 12,289,505 11,080,872 1,208,633
= 41,105
2 96,000
= 233,972
Al 11,918,428
FOIXFX DB 23 2,238,021 1,462,941 775,080
2 96,000
Al 2,142,021
F0lME 245 X3 2,162,690 1,462,941 699,749
= 96,000
Al 2,066,690
ANEEH L A& & 361,915 367,915 A 6,000
201 et d| 75,015 54,015 21,000
01 AF 2t 2| H| 29,390 29,390 0
O1 Let==H| 29,390
DEX O -SH 22 50,000 *100¢! 5,000
DY 0 - S -eHA ZETH 50,000& *75¢2I 3,750
DRUXsLHHYE EEI
50,000& 34021 x23| 3,400
DR2IKANAX R=S(7TE)
5,500 x20& x7E+12& 9,240
DHEEH S L0 4,000,000 23| 8,000
02 2324 45,625 24,625 21,000
O1 222 2 AHA 45,625
DAIARLIH AMHE 2R3
2502 x25021%1003] 625
>Ool.&d Aole2E 20,000& x5500! 11,000
DASUEHHI AlEE 17,000 =1,5000! 25,500
DAEZ SFEEA WEEOS HIl3Y
2,000,000& x14! 2,000
PER AT 24 RHIHOAS FIIE
4,000,000 = 14! 4,000
DA AE - Z2LE2G HIIFH
1,500,000 = 14! 1,500
PEZ HE AF - 24 PHIE ZIIE
1,000,000 14! 1,000
202 o4 | 4,800 4,800 0
01 2L I 4,800 4,800 0
SHSXE O] 400,000& ~12& 4,800
301 LBt A= 122,100 129, 100 A7,000
02 &st=dsi=2 39,600 39,600 0
ool - s 4 H#e 2 660,000& *302! *23] 39,600
10 HAFAHI B A2 76,500 83,500 AT7,000
OANERLIEH H=x 250,000 250l 6,250




2AM: XA D
MM FOIXX DB 23
Sl FOME BH5 X (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OO0 - S& =, MolL, 3o B4
14,000,000 =14l 14,000
OL]AE 0] - s& stotstial =LA 24
10,000, 000 =1 Al 10,000
oR2Y 0| - S& H&&X AS  250,000& %1200 30,000
OANMERZLIEH &A&X AS 250,000 250l 6,250
oxnsgdiia 88X ASt 250,000 =400! 10,000
12 J|EtE2 A= 6,000 6,000 0
OANERLIEH S84 20,000 2501 x 12& 6,000
307 2iz2to| & 160,000 180,000 A 20,000
04 QI2H8H AL R 160,000 160,000 0
O -9 -0 AHsl3 120,000,000 = 1A! 120,000
oxnsgdgi A28 U3 20,000,000& = 14! 20,000
O&F=Al 0/E& M=U3 20,000,000 = 14! 20,000
AlBI OFA DI EtE = 1,603,052 574,440 1,028,612
201 LBt | 471,400 317,600 153,800
01 AP 22| d| 102,400 0 102,400
O1 2Btx=2H| 2,400
DAELUHASH AIRA S22
100,000,000 «0.9/100 900
DASYUHASIH AIRA SIS (HAMAE 24X
&) 1,500,000& * 14! 1,500
O6 & xt= 100,000
DASUHASH AIRA A X=
100,000,000 = 14! 100,000
02 22244l 369,000 317,600 51,400
O1 2222 ¢ HA 359,000
D et = CCTV 3l&AIE =
100,000 x2003| & x12& 240,000
D et = CCTV 8IIe32
20,000 20000 A+ 12& 48,000
DEtHE CCTV Z2HHEE MRS
800,000 x12& 9,600
D et = CCTV SAES 60,000,000 14! 60,000
DASUHASH AIRA TN BEEESES
100,000, 000& *0. 7%*2= 1,400
O3 AIE&H| ®XHI 10,000
DLEE g8 xA SAES 10,000,000 =14 10,000
301 LBt A= 184,400 146,840 37,560
04 AiIsHHHISFH| 184,400 146,840 37,560
OXnsggiiad 2494l 179,400
DASYYHH =4 dUWS(BX, HS)
3,000,000 =10JH CH 30,000




2AM: XA D
MM FOIXX DB 23
ool =olME HAE XY CER-ED
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
> 2HAL | 2,500 ¥401 2102 36K CH 75,600
>REM L LYl 7,002 «2102 «367 TH 52,920
DAl GSUHUE 1=y
40,0003 x1021 *36 4 CH 14,400
DREIANES 15,000 ~ 12 »36H CH 6,480
OFAE o XNsedEUH 22  10,000& *5000! 5,000
401 AlEHIZL 2 0HY| 547,252 50,000 497,252
01 Al&H| 535,000 50,000 485,000
Ooge & CCTV A Xl &2 At 15,000, 000! 3004 £ 450,000
O E CCTV 2 HMAE =FAIE U A 45,000
>AEZIK 25,000,000 14! 25,000
DOz ) SHAE Y| 4,000,000 x14! 4,000
DUPS(EEE HAEZI) 14,000, 000& * 14l 14,000
> &I 3 At 2,000,000 *14l 2,000
Oty = CCTV 2tiiet BH(=SAIA)
2,500,000 ~16CH 40,000
02 2teld| 8,881 0 8,881
Ogt 2 CCTV A X2 AH(2eldl)
535,000,000 x1.66/100 8,881
03 Al 201 Y| 3,371 0 3,371
Og-Z CCTV AXIZ2AHAIE20HH])
535,000,000 x0.63/100 3,371
402 SI2vXHE0| ™ 400,000 60,000 340,000
01 812t X 400,000 60,000 340,000
OXsSegYEll =a8= 30,000,000 x109H A 300,000
OoXNgxsgtdEl =21 &
20,000,000 =54 100,000
HEOYES 9B CCTV REAY 197,723 501,760 £ 304,037
2 96,000
Al 101,723
401 AlEHIZL 2 0HY| 197,723 501,760 A 304,037
2 96,000
Al 101,723
01 Al&H| 192,000 490,000 A 298,000
OB 0|IotE YAMAEBOIT2IR2=(CCTV) N
192,000,000 = 14! 192,000
2 96,000
Al 96,000
02 22ldl 4,340 8,232 N 3,892
O&eldl 192,000,000 *2 . 26% 4,340
03 A& E2HH]| 1,383 3,528 A2,145
OAl&E S0l 192,000,000 *0.72% 1,383
28084 =& 75,331 0 75,331




AN XX HE D
M FOIXX I8t 23t
Sl BYMI FZ CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Sds A2 29 75,331 0 75,331
308 XXM SO0 A 75,331 0 75,331
08 JIEt=2E 3 75,331 0 75,331
OHM63 M=sAXLEN FH L AABH(H
22) 75,331,000& » 14! 75,331
QXX 435t 1,916,991 1,426,787 490,204
= 41,105
< 227,000
Al 1,648,886
ZolME OFX R 840 840 0
THIOHSEE 23 2 840 840 0
201 Lr2I| 840 840 0
01 At 22l 840 840 0
03 2g4g 840
DEFA UIAMEMNE & RHOSE s &
gt 70,0008 x62! +23| 840
LIt E ALY 1,106,620 592,720 513,900
< 227,000
Al 879,620
grztes XA 590,620 142,720 447,900
201 £B-2dH| 39,600 44,600 25,000
01 At 22l 24,600 29,600 A5,000
O1 get==2Hl 24,600
DA & f+2d 2
45,000& *80H 3,600
DEeALS 3 B2 L FUAILS
100,000& 3000 & Xl 3,000
> MOLS 21 ME 6,000& 50004 3,000
DTN 243 22
15,000, 000& * 14 15,000
02 3323l 15,000 15,000 0
O3 A& &bl |Xdl 15,000
DERAXIME =& B+
15,000, 000& 14! 15,000
202 o4dl 4,320 4,320 0
01 = LH o4 1l 4,320 4,320 0
OoItgd =2 ol 360,000 122 4,320
301 L2 A F 77,700 73,800 3,900
10 #AIAHIE A Z 77,700 70,800 6,900
OMOIE=20Ws, Hal(5Y), dXX A
150, 000& 20021 x13] 30,000
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M FQXX 2435
Sl Izt ALY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OBIEAHAIR/Y s, Ha(sY), 48X A
gt 150,000& 10021 13| 15,000
OFLUXXFE ety s & 48X A&
150,000& 10021 13| 15,000
OEFALS UY DY FAL A8
100,000& *40021 x 13| 4,000
Oz RN 22U FRAIE HAE
2,700,000 » 14! 2,700
ONA=2=2 (012, MEX) N2 ME
40,000& *1002! 13 4,000
OUFBEAZAEAS 319 HIILA
7,000,000& » 14! 7,000
307 glz2tol & 65,000 20,000 45,000
02 QI2tFAB X 65,000 20,000 45,000
OsgAMs X 25,000, 000& * 14! 25,000
O FAl F0XXAJAS stefetite
10,000, 000 * 1Al 10,000
Osgs=2gs N3 20,000,000& =14 20,000
Oolz=ad JIEAY X 10,000, 0003 * 14! 10,000
402 RIZ2EXt20l ™ 404,000 0 404,000
01 RIZEAt 22X 404,000 0 404,000
ORIFHS MRATIIRY K&
4,000,000 *14] 4,000
O=eol =UXJALdEH HE
400,000,000 » 14! 400,000
MOt XIEXt &3 A& 54,000 0 54,000
< 27,000
Al 27,000
301 et a = 54,000 0 54,000
= 27,000
Al 27,000
02 Zet=sk=s 54,000 0 54,000
OMOIEX&EX A &st= 54,000,000 14! 54,000
< 27,000
Al 27,000
Ot=3sl2 2tel 56,000 250,000 A194,000
401 AIEHI L 20 30,000 190,000 A 160,000
01 A& HI 30,000 190,000 A 160,000
ontssl& 2= 30,000,000 =14 30,000
402 BI2FX=201 M 26,000 60,000 A 34,000
01 RIZEAI=2E X 26,000 60,000 A 34,000
ottsg & 2 26,000,000 * 14! 26,000
OrSsl2 A= 400,000 200,000 200,000
< 200,000




R PPN = RSy
M FQXX 2435
Sl Izt ALY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 200,000
402 RIZEX201 ™ 400,000 200,000 200,000
< 200,000
Al 200,000
01 RIZERI2EX 400,000 200,000 200,000
O=2Ys S3t2e nts3a s
200,000,000& 14 200,000
< 100,000
Al 100,000
O=2Yg Hs62 23z s
200,000,000& 14 200,000
< 100,000
Al 100,000
2o ReAU2S 6,000 0 6,000
308 XXM SO0 A 6,000 0 6,000
07 MBI ZSEXNJZHEEL 6,000 0 6,000
ORFN SIS 2N
6,000,000 » 14! 6,000
M3 EH 2X3 XA 207,210 204,041 3,169
MEH Ex3 X 207,210 204,041 3,169
201 €24l 1,050 1,050 0
01 At 22l 1,050 1,050 0
O3 2g=¢ 1,050
>AMBEHEES Mo Mo 2
70,0003 521 x32] 1,050
307 glz2+ol & 206,160 202,991 3,169
03 M HHEEXS 206,160 202,991 3,169
OAM)&=Al MOt23 65,000, 000& =14 65,000
OHIZAAII2S BFAEAS
56,000, 000& » 14! 56,000
Ogt=Tt7EEU AFAKXE
18,000,000 * 14 18,000
OMSLAEEAFHOE AFAXR
3,500,000& =14 3,500
Oo=EsY AFAE2S 3,000,000 » 14! 3,000
OMBAESLHLEE S AFAIXZ
3,500,000 » 14! 3,500
O3FNIANBEE2AS 6,400,000 14l 6,400
OJ=g - H Xl ol Xt X & &l &
30,000,000 * 14! 30,000
Oghiote SsH 9,000,000 =14 9,000
O =A NLEE 23 2,000,000 » 14! 2,000
OF=e dsl 2,000,000& =14 2,000
ORFU=323 HSALESE 5,000,000 14 5,000




2N
X ZH -
L= B

el

Xl ot
QXX g4zt
ASIEH X3 XI&

- _ . RE!
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| | OAl 2= ALY 2,760,0002 * 14! 2,760
Xlspl otert s 262,500 262,500 0
NAEsAY =X 255,000 255,000 0
206 M 2 Hl 250,000 250,000 0
01 X2l 250,000 250,000 0
O=MMIIS2S =23 AFH
250,000,0002 * 14! 250,000
303 ZA2 5,000 5,000 0
01 ZA2 5,000 5,000 0
O=MMIIS2E =3 24 SHES Al42
5,000, 0002 *14! 5,000
Xems X 7,500 7,500 0
306 212 7,500 7,500 0
012012 7,500 7,500 0
OS2 XARNSHS =2 7,500,0008 *13] 7,500
X2 2 A2 B 339,821 366,686 26,865
= 41,105
Al 298,716
AZANKASALEHRY 222,000 202,040 A 40
307 912+0| & 222,000 202,040 A 40
02 QIZFHAE X 202,000 202,040 A 40
OFEA NFSAME 29 X
222,000,0002 * 14! 222,000
T2 Ab 2CIHO0H X 38,288 35,036 3,252
= 19,144
Al 19, 144
307 212+0| & 38,288 35,036 3,252
= 19, 144
Al 19, 144
IR PUCES 38,288 35,036 3,252
OXEAF DCOUIOIE XY 38,288,0008 «1Al 38,288
2 19,144
Al 19,144
AZAKFEAX LT o2 6,000 6,000 0
301 Yt A 6,000 6,000 0
10 BAFAIH 2 A 2 6,000 6,000 0
OLEAKLSAR XK o
75,0002 *80°0! 6,000
NSEAX 282 Y 43,923 67,000 A23,077
= 21,961
Al 21,962
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MmO 2
Sl XIS AR A5 CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 43,923 67,000 N23,077
= 21,961
Al 21,962
02 QI2tA A E & 43,923 67,000 N23,077
OXEEAIAN B8 X 43,923,000 14! 43,923
= 21,961
Al 21,962
AN Z2A HiOI2 S 19,000 19,000 0
307 QI2t0| & 19,000 19,000 0
02 Q2tAAME X 19,000 19,000 0
OFSXNIASAME 4 19,000, 000& = 1Al 19,000
ANBSA €2 =8 | 2,880 2,880 0
202 044l 2,880 2,880 0
01 2Ll 2,880 2,880 0
OXNEESAI 28 | 240,000 x12& 2,880
2FA ANESAF 2HEHF 5,000 12,000 A7,000
307 2iz2to| A 5,000 12,000 7,000
02 QI2tAH AP E X 5,000 12,000 27,000
O FAl N ZSA SHOIE 5,000,000& x14Al 5,000
FA NESANLHRARE 29F 2,730 2,730 0
201 gEt24Hy| 2,730 2,730 0
01 AP 2t 2] H| 2,730 2,730 0
O3 g4 2,730
PRFANESMNLHARE B0 BALY
70,0003 x13021 x33] 2,730
olgrel X 118,240 100, 250 17,990
= 6,972
Al 111,268
olgl = X 118,240 100, 250 17,990
= 6,972
Al 111,268
ez 20 249 A& 95,000 95,000 0
403 XX SHHS K20 & 95,000 95,000 0
3ot Z2ELdXdNE2Ex 95,000 95,000 0
OSEYSR MMM =23 50,000,000 = 14! 50,000
Ol ns&Ed XH 20,000,000 1Al 20,000
Oub =220 29 X& 25,000,000& x 14! 25,000
Bl 22l 29X 23,240 5,250 17,990
o= 6,972
Al 16,268
403 XX S M S K201 A 23,240 5,250 17,990




AN XX HE D
a0y X8
Chelr oldlz2 K& (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 6,072
Al 16,268
3obIZELNAEER 23,240 5,250 17,990
Ouldl2 s4X& 23,240,000& » 14! 23,240
< 6,972
Al 16,268
W=EME ¥ Us=sN2d 6,988,029 7,640,344 A 652,315
M= PNE= -~ 6,958,029 7,610,344 A 652,315
DAL 3,440 4,280 A B840
201 Let2d] 560 1,400 A 840
01 At 22l 560 1,400 A 840
O3 2d=¢ 560
PREEADSBUBESHOAAL FHLY
70,0003 201 +43] 560
202 Odl 2,880 2,880 0
01 =S LHAYI 2,880 2,880 0
OusXNIALYS =& ol 240,000 128 2,880
ME=:) | DN} 6,909,589 6,895,064 14,525
306 A3 300,000 0 300,000
01 &3 300,000 0 300,000
OZ&sAL 28013 300,000,000& 14 300,000
308 XX EHH SOl A 6,609,589 6,895,064 A 285,475
05 X HHMAURE = 280, 144 347,951 A67,807
OJ3HSUEZWAKI&A 280, 144,000& 14 280,144
06 WSII20HEt2x= 6,329,445 6,547,113 AN217,668
OsdoE gt= st X
300,000,000& 14! 300,000
OsXg &= s 249 800,000,000 1Al 800,000
Oz=s2&82 s3us 24 70,000,000 14 70,000
Ouns=X LI AL 100,000, 000& * 14! 100,000
Oz=sd0MEnsy 24 435,000,000 =14 435,000
O== DIcHAEd SHEZZHE MY
600,000,000 =14 600,000
ORXA A LAY 65,000,000 14 65,000
OHXNSY TM72LH XN 32,000,000& =14 32,000
ORF= UsHA MW= 500,000,000 » 14! 500,000
OSRAx= FALZ MAALY 6,000,000& » 14! 6,000
OHE=x 2=z AS4 = 5,000,000 14 5,000
OfFHE SALME & SAMA
500,000,000 » 14! 500,000
Ogatx SAANE & 28 W ALY
360,000,000& 14 360,000
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OSAH = esHAZAALH EXAE
24,000,000 14! 24,000
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500,000,000 14! 500,000
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Ot ZAA MW= 130,000,000 * 14! 130,000
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150,000,000 = 14! 150,000
OIS W SotxE dHiorg et 8x ALY
36,000,000& = 14! 36,000
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OAHE AL 142,645,000 * 14! 142,645
L0 HSA 45,000 50,000 A5,000
308 AMXISHHMSOIA 25,000 25,000 0
05 RRSHH2AESZ 25,000 25,000 0
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25,000,000 14! 25,000
403 XX SRS K20 & 20,000 25,000 A5,000
02 2J| 2 S 0l CH St CH & AF R 20,000 25,000 A5,000
OnstgmuEs X& 20,000,000 = 14! 20,000
S SR 30,000 30,000 0
220 ZBMSSIA 30,000 30,000 0
403 XX SHHM S X201 A 30,000 30,000 0]
02 SISO CHSHCHEH AFS I 30,000 30,000 0
ORAF 22 LY YIS 2
30,000,000& x14! 30,000
MAStART R A5 14,000 24,000 A 10,000
Aggs A XA 14,000 24,000 A 10,000
ANgos daldgdz 25t 14,000 24,000 A 10,000
306 52 14,000 24,000 A 10,000
o1 s2 14,000 24,000 A 10,000
O92Zs AMIls=(HAMUSD 7AAIY &2
14,000,000 = 1Al 14,000
HEERY 429,750 426,550 3,200
SSH0 gR2ae 429,750 426,550 3,200
NEYHSAI 29 £ HEAMNE 32,490 31,290 1,200
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R PPN = RSy

H: HWRES(MXSEZY)
S WEAHAHX = (&)
SA - BB B () - MM - BES Ol &t o San HmEET
MPES (XX A ) 500,000 0 500,000
HEAHHK = 500,000 0 500,000
PIM=Edlls 8&3 500,000 0 500,000
702 JI3HES 500,000 0 500,000
I8 E3 500,000 0 500,000
OCNMs4dIIg dE3 500,000,000 = 14! 500,000
HHSAAY (N AR D) 84,474 0 84,474
ol 2 gl 38,142 0 38,142
ol 2| (XX A D) 38,142 0 38,142
101 @14 dl 38,142 0 38,142
01 24 38,142 0 38, 142
OAtZex% 8,476 x1521%x300A| 2t 38,142
JlE &3l 46,332 0 46,332
Jl2ZYl (KX HE ) 46,332 0 46,332
201 LB-2E| 33,732 0 33,732
01 At 2t 2l 29,532 0 29,532
O1 get==2Hl 29,532
DEREMA2I=E2HI 1,500,000& =122 18,000
DOEH EH, &Y 300, 000& *5IH 53] 7,500
==l 7,000 162! «33| x12& 4,032
02 =24l 4,200 0 4,200
O1 83322 ¥ HA 4,200
DRERZS 1,750 2004 128 4,200
202 04l 9,600 0 9,600
01 = LH Yl 9,600 0 9,600
OJlege=8 ol 800,000& »12& 9,600
203 R =&t 3,000 0 3,000
04 FN2ELRZ=TH| 3,000 0 3,000
ORN2ZIRFAHI(152) 250,000 128 3,000




